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QUESTION 1

A customer has multiple medium and large branch sites, each of which requires between 8 and 16 APs and supports
between 200 and 600 wireless clients. Every branch site has an internet connection, which it uses to reach the central
data center. The customer would prefer the WAN links to be optimized in the solution. Each side handles between 1 and
2 Gbps of traffic, most of which goes to the central data center. The data center has 7210 controllers for terminating the
VPN connections.

Which branch office solution best meets the customer needs?

A. CAPs and branch office controllers with an SD-WAN license

B. IAPs and no branch office controllers

C. CAPs and branch office controllers

D. RAPs and no branch office controllers

Correct Answer: B

QUESTION 2

Line# Part Number Descriprion Manufacturer Unit Price = Quantity = Total Price List

1.00 JZO02AAE Aruba Meridian Blue  Hewlett Packard Enter.  $6,000.00 2 §12,00000 USA Price Lizt (USD)
Dot Mav 1y E-STU

1.01 JZ095AAE Armuba Meridian Hewlent Packard Enter. $18,000.00 | $18,000.00 WUSA Price List (USD)
Campaigns 1y1 E-
STU
Quote Total §30,000.00

A stadium wants to deploy location-based services, including blue-dot wayfinding over a 200,000 square
foot (18,580 sq. m) area. The customer also wants to enable targeted notifications when guests walk past
particular areas. The customer has selected a 1 year subscription.

The exhibit shows the BOM that the architect created in Iris.

Which correction should the architect make?

A. Add another campaign subscription

B. Add two Maps subscriptions

C. Remove one Blue Dot Nav subscription

D. Change the campaign subscription to a Maps subscription

Correct Answer: B

QUESTION 3
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A hospital needs a better way to track its inventory, including wireless medical devices that are moved
around the site a lot.

Which solution meets these needs?

A. Aruba asset tags and beacons

B. Aruba asset tags, APs, and Meridian

C. Aruba beacons, APs, and AirWave

D. Aruba beacons and Meridian

Correct Answer: A

QUESTION 4

What is one reason that an architect might choose to use pico-cell coverage rather than overhead in a stadium?
A. to avoid major rewiring and construction concerns

B. to save money by using less powerful and less expensive APs in the deployment

C. to support a higher device density with a higher level of channel reuse

D. to maximize coverage per-AP through the use of calculated directional antennas

Correct Answer: C

QUESTION 5
A hospital needs a wireless solution which will provide guest access for patients and visitors, as well as for medical staff.
In addition to laptops and tablets, staff have wireless voice communicator devices. Some medical equipment also

connects wirelessly.

How can the network architect help to ensure that patient and visitor internet use does not interfere with more vital
hospital applications?

A. Deploy IntroSpect to monitor patient and visitor traffic.

B. Plan a bandwidth contract for the guest role in the MC firewall.

C. Deploy dedicated Air Monitors (AMs) at about one-fourth the density of APs.
D. Ensure that the guest SSID has a password associated with it.

Correct Answer: C
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